
����������	��
�����	�����

���������	
�����
�����������������������
�����������������
�

���������	
������
�����������������������
������������������������� !�"��#


$��#�%�&#!

������������	�
�	����
	�����
�
	����	�
��
��	��
��	�	�	��	�������
������
�
�����
	����
�����

��������
�
����	�
����	������
����
����	�	
�	��	�����

�
����
��

����
� ! "# $%
����� !& $

��
� �!"#�$���"%&�
"'(�  )$��% �(�
"�'�'

���������������������������������� ��������!��"# ����$���������  ��������%�$�&
��$����� #�'�$������"��#���$�  ������� ���(��#�$��������'� $� ������$���' ���%&
)�*�����+�$��#�$������������( ����
�����",,�#��������� ��������� ��$�-������� ���
������ ���� ������'�#����������

��./0������������-���������������)�(�$���$�&
���� #�(�$������"��#�����,,�������*����1�  ��
������ ��$��!�#�$��������*� $� �'���"��#���$�$&
������*� � ��$�*� ���2��$�� ����$�-��*�����$�&
��' ���'�$�-�����������$��#�$�������$�
�#�#��
��+2$��*�,���*
���#�����������*�� �(*���������,��
�� �����3�$�$��������$�$������3��� ������4���$�&
)�%�#�$��%�����!��"# ����$���������� ��������&
-���
��������������!������� � ��$�*�$�!����$���
$� ���",,�#��
��������(%)���� ������ ������1� &
 ���"��#���$�  ������� �
�#�!���������'�������&
 #���#�*�,���*����� *��(��*�$��� #������#1�����
�� ��� ��
������� ���������
�������#�(�*���#����&
 ��#��$�$������'� � ��$�
�#�#�",,�#��������� ��

������ ��#�$�������� $� �
�$�-���(��(�� (������&
 ��(���'���������'
�#�#���(�,������ �����
���#��
��(�$�$������

5������ ��()�'����������#�%���� (������ ����&
������$������!��,�#������  ������������#�����*
��#���$���� ��'���� ������ ��'���������(�"��#���&
$�$������'� � ��$�
���#�����'����� *����������� 
�(��#�$��������'� $� ���6���2$���������#�$�����&
����(��(�� (�"��#�����'�������$
�����������������!�
��  �1��1��������� �������%)�!����,,�������!�
 ��(�������%� (���������$���' ���%)�*����(-����*
#�$����������������!�*��$�%�������������-���
���(��������� ����%�� �#�#�$�&�����#�$�������$���
*�$��� #������#1������������'����,���


'(�
)����)�(� *�$�����1�  ��"��#���$�  ������� ��#�$������� $� ����$�$������'� � ��$�7�8�3�#�$����������
���(��9�/
�:�3������ ���%)��������#1�(*�#�$�������9�

�;�3�#�$�������
�������%)�� (�������  �1��1���8�3�!�
#�$�������9 �3���,,�������'������� 
 �3�"��#�����,,�������'������� 9 �3�*�$��� #�������$���' �����
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6� ����$��� (������1�����(�"��#���$�$������(
 � ��$�
������������(�����%)�$��������$�%)�$
��,,�������$�� ��($����������(%)�'��*�$�$�&
����'�F�� ��/G��H�# ��������'�"��#����� #�'���&
�(��$����1��$�$�������� ������2�������$����
��
�!��#��1�����1�(������������������ *�����#��1��&
���1�%����(-����*�#�$�������������$�$�����
F��� ��'I�(�$������������$����'�$�$�����G�.


;0��6�����' ����$����I��!��"��#����� #�!�����(��
 � ��$�������#����"��#����� #�'���#
���#��������&
�� ���#�����!��j�����!������������*�� �($�$�$�&
��������(��������2��� �������$� ������
�����$�$&
����������$�)� ������������ #���������� ��(���&
��-�����������(-������#�$�������
������*���#�$&
��������� �����1�������$����#�$����(����������2��

J�� )�������K�"��#�����'�������!��#�$�����&
���������$���' �����������%)�* (�������������
"��#����� #�����(-����*�#�$��������������� ��
��I������%)�!��δ�3� ��(�$�-������������ �����&
��
������$��
�������� ��*��$������ #�!����������(

1

2

2

k

H O H OH

k

+ −⇔ +            (1)

!��� 1k = 52 10−⋅  "-1��� 2k = 81.3 10⋅ 3 /� ���� �⋅ � 3�#��&
 ������ #��� ��'���($�'����������'�*�$��� #�*
���#1�'���  �1��1���$���#������������#�$����&
1���������%)�* (������.90��6������!������� � &
��$�
���&����$�$�
�����������  $�������� ������$&
#�*����I����,,�������!�����*�������������>����&
���I��'���.:0
�#�!��� ��' ����$�$����������(��
�� ��(���$�����I����� ������ ���%)�'�#�����'
���������*����� ��$�����$�$���!������$�����

4���(-����(��� �����#����������(����1�  ��
������ ����$�$������*� � ��$�*������������-���
��.
0
������������#����#������������������������#�
$��������*���I���(�� �)� ���������������*���>�&
L�����1#�!�
��������#����#����	����@��������.;
�M0�
6���1�����������������������!�����*�������$���&
��������(����� �����#��1��1������I����,,�����&
��!�����1�  ����#�%���� (�����$
����� ���#������
 ��' ����$�$���������(��(%� (�*���#���� ��#�$�
 �� ��������������������'�$�$��������������� (�&
 (�#��� ����������$�*�����$�����
����*���������
��*���� (����������������I���(� ������ ���%)�'
#�����'���������N����� ��(���� ����������(������ ��
���� �$� ��� ���#�����*� ��' ���$�$������'� � &
��$�������������������� ���"��#����� #�!����#�

#��1�����1����� � ������� ������������� ���������
$�$�����
�����#-���2�,���#�&*�$��� #�*� ��' ���

��#��� ����#����� ������'�*���#���� ��#�� �&
��#�����*� ��' ��
�#�#���������'��������������'
$�$�����
���#���$�$������'� � ��$����1���$
����&
�(���� ����������
���#��������$��
�",,�#������

�� ��������� ��#�$�������� $� ��.;0��H����� #�'
 $� ���!����#�%���� (�����$
���������*���#��������
���%�"��#����� #�!�����(��
������� �$�!����$�$�&
�����'� � ��$����� �2��� �*����$�-��*�$�*����$��
���� ������3�#����#�����!�
���,,�������!����$�!&
��1�����!���� ������������������ ���$��(���!�
����#��i&!��#�$������������������������� iJ 
������&
��-����
��������(%)����!��",,�#��������� �����&
���� �� in 
�$�-������������ ����������

i i
i

z F J
n

j
= (2)

!�� iz �3����(�������� �� i&!��#�$�������
�F=96484.56
��*���+�3��� ���H�����(�.�0�

��������
� ��()�(����� �����������-���(�F:G

,�#���� #��(��(�� (����1������'������� ��%�"��#&
����� #�!����#�� ij ��=��� ��������������(�� (�#���&
�� ���$�"��#����� #�!�����(��
������� �$�!����I�
#�$�������$��i&!�� �������������������%�����!�&
������%������*�� �����������1�����$�������"��$
 ����������-�������(�",,�#�����!���� ���������&
 ��F:G�$�-������������ ����������

i
i

j
n

j
= .            (3)

�� �����
�� ������������'����������� ��'��� &
 $�������$�'�$�$������'� � ��$��������� *��(�
��#�#���*�$��� #������#1��
����������(��(�� (
�� ��(���'��=�!�����
�(��(%)�( (����$��������'
��������'������� ���$��(���!������#�
���#-����&
������������'��� ��(���'�F���!�$�� ����$�
�"��
��' ����������J�� ��KG��������������-���������� &
��� ������� ���������#-�������������(������ ��$�  
i-!��#�$�������
��� ��1�������$� �������$�%)�!�
 ����%)�'����
 0idiv =J (i=0,1,...m).            (4)

L�� ��m+1 – #����� ����#�$���������  $� ��
���������#��� ������� ���� ������'�#���������
�����������������#���(�"��#����� #�!����#�
�����&
������F;G�$�-������� �������������

 0id J

d x
= (i=0,1,...m), (5)

��#���� ������
����������������' ����������(��(&
�� (��� ��(���'���(��%��!��#�$�������� $� ��

�� �����
�� �����#�#�'&������������ ������� &
*��(��*�$��� #�������$���' ���(
�����$� �������&
����(�F;G�� ������������ ����� �����I������$���
���

 0i idiv κ− + =J (i=0,1,...m), (6)

����������$����$� �����

 0i
i

d J

d x
κ− + = (i=0,1,...m).            (7)

L�� ��� �����#�����������*���#������%������$�&
��' �����$�-���#�$�������$�� $� ������ ���������&
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���#����� ������)� ���
�������%)�!� (�Fκ
i
>0G����

� ����%)�!��Fκ
i
<0G��������������*�$��� #�*����#1�'

����������$���+2$����  $�������$�'�������� ��

kΩ (k=1,2,3G���������1�����$�����L������������# �
k
��������/
� ������ ���������� �������%)�!����,&
,�������!�� ��(
�:�3�,����$�$�����
�
�3������$�%&
)�$����,,�������$�� ��%������)�$� ����������&
-�������(�,��#1�'� 0 1( , ,... )i i mc c cκ κ= $�-�������
���� ���������������./0

 
, 0 0

m m

i lp l p l l
l p l

A c c B cκ
= =

= +∑ ∑ (i=0,1,...m),            (8)

!��� ic  – #��1�����1���#�$���������i&�!�� ����
�#�&
",,�1������ lpA �� lB 3�#�� ������ #��� ��'�����&
��$�*�*�$��� #�*����#1�'
�(��(%)�� (�����-�&
������$�
�� ���i-'�#�$������������#������*����*�&
$��� #�!������$���' ���(
�����1�������$�
�� ��
���� ������
��������$�����%��� �������� �� ���(
 ������ ���%)�!��*�$��� #�!������$���' ���(��=�#
#�#�#��1�����1���#�$����������� � ��$�*
������&
��*���  $�������$�'
����� (�������� ���� ������'
#���������
���������'�����������������(������&
#���(�"��#����� #�!����#�
������,��#1��� iκ ���#-�
(��(%� (�,��#1�($��"��'�#�����������=�!�����
��������(�FOG��� �������!��������(� ������
�������&
������� iJ ����(��(%� (��� ��(���$������������&
$����$������� ��#�$����������� � ��$����������&
��������(� x ����� ��� ������� ������

( ) ( )i iJ x x dx constκ= +∫ , (i=0,1,...m). (9)

���� ��� ��
�� ��� #��� ���*�$��� #�'����#1��
�� ��(�������� �'���  $�������$�'����� ��
��������&
������FEG����������'��%����� �$� ��������� ���$�&
�(���!������#�� iJ ������� ���� ������'�#���������
x ��6��� 0iκ ≡ ����FEG� ������
������� �������� �� ���(
*�$��� #�*�����$���' ���'�����  $�������$�'���&
�� ��
� iJ �(��(%� (��� ��(���$����������$��

6� #���#������)�$� ������������������*�$��� &
#�*����#1�'���������� iJ (��(%� (�����$����$�
���
����������� ��(���$�������1�������������� ���"��#&
����� #�!����#�� ij ��=�#�$�������$
����� ���������&
��-���(�F:G�����F
G� ������������������$����(������
����������(������#���(�"��#����� #�!����#��

��  $����$�����-����
� ��()��������$��������
4�!�� �������������%���������������� ���"��#�&
���� #�!����#��$�-������� ���

m

i i
i 0

j z FJ
=

= ∑                              (10)

?� ���,��$����������-�����F/8G��������(�����&
������
�#�����(�$�-��������,��#1��'���� ����&
 ������'�#���������� x ���� ��%��������
���������
",,�#�����!���� ��������� �
�$�-���(��(�� (���&
 ��(���'
�� ���,��#1��� ij (x) ��� j(x) �����'����6�&
#�-�$
��������������*�"��#���$�$������*� � ��&

$�*���#�(� ����1�(����$�-����$����$� ���
������$ (�#���  $�������$�'�$�$������'� � &

��$�� ��(��#�$��������'� $� �%
���#�����'����� &
*������� )����������'�������!��#�$��������������
"��#����� #�����(-����*
������$��
����$�%)�'
 ��*��$������ #������������������F/G��P���$����&
��������"��#�����'�������'�#�$�����������# �$�8

������$���' ���%)������(-������#�$��������3
����# �$��/���:
�#�$�������
�������%)�� (�����&
������������#1�����  �1��1���J������!�K
�3�
���;�

��  $����$�����-�������(������� ���$��(���&
!������#��#�$������
�*���#������%)�* (�������&
�$�*�$��� #�*�����$���' ���'�FEG������$�-�������
���� ���������� ����%)�$�����7

0

0

( ) ( )
x

i i iJ x J x dxκ= + ∫ ,          (11)

!��� 0
iJ �3������� ���$��(���!������#���� ��������&

 �� ���(�*�$��� #�*����#1�'9���� ���� ������(�#�&
���������x��������(��������������������#���(�"��#&
����� #�!����#���6�� �����#��F//G���F/8G�����7

0 00

xm m
o

i i i i
i i

j F z J F z κ
= =

= +∑ ∑∫                                        (12)

6����'�����
� ��()�'��������'��� �����������(�F/:G

(��(�� (���������'��� ��(���'
��������'�����)��� (
������
��� #���#������  $�������$�*� � ��$�*� �$&
$������#����� ����"��#����� #�!�����(������$��(��&
 (��P�������!�
�������I�� ���� ������
����� #�%����&
�$�#������ #�*����
���#��������$�*
����������*�� &
����'�#��1�����1�����'����(����1��
� ����������$
(��(�� (�� ��������#�����'�"��#�����'������� ��

#�!������������%� �$$����'�"��#����� #�'����(���
�%��'����#����  $�������$�'����� ���

������������ ��'��������
� ������ ���%)�'� ��&
*��$������ #�$����������%�F/G
���!�(������$��&
 ��������������������-���������' ���������
��
"��$� �������$�%��$� ��� ����%)���� ����(

0 1 2 3 4, 3 40, 0,z z zκ κ κ κ= = = = − =                        (13)
6�"��$�������'�������������'��� �������-���(�F/
G

����)��� (�������
������������������ �����#���� � &
��$��(��(�� (��� ��(���'
���������������� ����#������

��$���$
�����������������-���������� ���&
 ������� ���������#-�������������(���(������� ��
"��#����� #�!�����(��
� �(�����!�� ������� ��%
"��#����� #�!����#�


0e div
t

ρ∂ + =
∂

j ,                                                    (14)

� ��������� ���"��#����� #�!�����(�����$�$������'
 � ��$�����$��(�� (������#�#�'����������'����#�
�����

eρ (x,t) ≡ const������#��"����������������(��(�� (���&
���� �$�$������ ��������������������'������ ��$�  
��������*�#�$������
��������� ��������$���$����� &
#�*�$�����'�"��#���$�$������*� � ��$
�#�#������&
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�����*���$� �������������(��!����������#����
=�#�$�������$
���"��#���$�$������*� � ��$�*

������ �����#�� j 
��� $���(�������� *��()���*�&
$��� #������#1�������,,�������$� ���������� ��&
(� �������1������*������� ��'���#�
�� ��2� (���&
 ��(���'���������'���� %����� ������������� ��'
����������$
�����������-���(*�F:G�����F
G��� ��&
�����(��(�� (�,��#1��'���� ���� ������'�#�����&
����
������$��������3�#�� �����'��4������������

",,�#��������� ��������� ��*�$��� #������$���'&
 ���%)�*�#�$������������������ ��(���'�������&
��'�����$��(�� (�����������������(������#���(
"��#����� #�!����#���4����!�'� ������
�� ���"��#�&
���� #�����(-������#�$���������������$���' ���&
%�������������%� (
�����*������� �������#����� ��&
(������������ ��(���'������� ���"��#����� #�!�
��#���#�-�� (��� ��(���$����#-�����*�",,�#���&
������ ��������� ��

��(��  ��������(����!�*�� ������ ��'���������(
"��#���$�$������'� � ��$��������$ (�#��� ���$�
���������$�����
�������-����'���./0��P���$� ������

����#��1�����1�(���  �1����%)�!����'�������!�
#�$������������� #���#�����(�#�������� *�����#��&
1�����1�%����!�*�#�$������������"��$� ������$�-&
�������-���
���������(��(�� (���������'��� ��(�&
��'��=�#
������$��
���"��#�����������*� � ��$�*
#��1�����1��������������������$�*������*��� ���&
������$��(%� (����������*����/����/82�$���Q$3��	��&
1�����1�(�$���#����������"��$� ����������!��� (
��������'����(�#��8�MMR⋅105�$���Q$3 [90��=�!����� &
�����������#��1�����1���#�$��������� $� ����"��#&
����� #�!�������1�������������� ����� (� ���#��&
�� ��%�������*���,,����1������*���������'

2

2 0i i
i i i

d c z e d d
D c

d x kT d x d x

ϕ κ
  

+ + =  
  

(i=1,...4),  1 2x hδ δ− ≤ ≤ +                                                        (15)

!��� iD �3�#�",,�1�������,,�����i-!� #�$�������9
ϕ 3�"��#����� #�'������1���9�e = 1.6021892⋅1019�	�
3� "��$�������'� "��#����� #�'� ���(�9� k =
1.380662⋅10-23��-Q	�3��� ��(���(�P���1$���9�T = 293
K�3��� ��%���(���$���������

������((�#���������($�F/MG���!������� #�������&
�����
�����-�%)��� ���'�� ��������#�����'�"��#&
�����'������� ��


4
*

1
1

( ) 0i i
i

F z c sign z σδ
=

− =∑ ,          (16)

�������$��(�����������'���(��(��������� ���*
,��#1�'
�!���σ 3��������(�#��1�����1�(�,�# ���&
�����!��"��#����� #�!�����(���$����1��$�$�����9

*

1 2

1 ��� � �

0 ��� � ��� �

x h

x h x h �
δ

δ
≤ ≤

=  − ≤ < < ≤ +

H��#1��
�*���#������%)�����  �1��1�%���'�&
������!��#�$�������� ������$���I�����$(����!�
� ����(����� ���������������(��!��#��1�����1��

����I�� (�������

1 0 2 3 4i k c k c cκ = −  (i=3,4).          (17)
������I��*�!����1�*���,,�������*� �����#��&

1�����1���#�$��������� ����%� (����� ���$����&
������$�

1 :x δ= − 0
1( )i ic cδ− =  (i=1,2,3,4),          (18)

2 :x h δ= +  *
2( )i ic h cδ+ =  (i=1,2,3,4).          (19)

���$�-,����*������*�� �(*�����%� (�� ����(
���������� ��������� �� ����� #��#����(������� &
��'�$��(���*�����#���#�$������� $� ����"��#���&
*�$��� #�!�������1�����.;0

0, :x x h= =  
0

0i i
i

x

x h

d c z e d
c

d x kT d x

ϕ
=
=

 
+ = 

 
 (i=1,2,3,4),

(20)

0
0ln 0xi i i

x h

RT c z Fµ ϕ =
=

 + + =   (i=1,2,3,4).          (21)

L�� ����#��������*� #��#�*����� ����� (�����&
-�������(� #��#��#�#�'&��������������

L�$�#�����#�����'��������� �)� ���(�� (�����&
���$����������������(�����(-���(�����"��#���&
�� #�!�������1���������2* ��'��'����� ��

1 2 0( ) ( )hϕ δ ϕ δ ϕ− − + = ∆ ,                    (22)
!������������ 0 0ϕ∆ > .

��*�-��������������� #�!����I���(�������'&
��'�#�����'��������F/MG&F::G��� �$��������������&
��
���"��$��� �����$�$�����$��2���I���(�(��(��&
 (��� �����������!��������������������",,�#���&
��$
����� �'�����$� ��
�(��(�� (�$��������������&
��'���� ����#�
���!����$����� ����'���(�#�����&
!����"��#���$�$������*� � ��$�������-���������&
��*�	���@��������.M0����(��!���������1�����$���
��$#�*���*����!������!��$$�������(�OLYMPUS
.R0� ���$�)�%�����!���������'� �������������#�
���!��$$��!����� ������(�Delphi� ���������!��$$&
��'�#�$���# �.O0��=� �����������!��� �)� ���(�� �
����������Wills’a – Lightfoot’a [3].

	�$��%�����'�"# ����$������������ (����� ��&
��%)�*��� ����*��������(*��*��()�*���$���$���&
�� #�%�$����������$������������� �(*� 1 0xδ− ≤ < ��

2h x h δ< ≤ + �#�",,�1��������,,�����D
1
, D

2
 ~ 10-9

�2*", D
3
 = 0.9434⋅10-8��2*"��D

4
 = 0.528⋅10-8��2*"��#��&

 ��������($�'����������'����#1�� 5 1
1 2 10k c− −= ⋅ ,

k
2
 = 1.3⋅108��3*���+⋅"9�#��1�����1���������I��*�!��&

��1�*���,,�������*� ��2�� 0
1c = 0

2c = *
1c = *

2c = 10 ���+*
�3, 0

3c = 0
4c  = *

3c = *
4c  = 410−  ���+*�39����)������,,�&

������*� ����� 1δ = 2δ  �����$��� ����������'����(�&
#��S�/8-5 ��������� ���0 x h≤ ≤ �#�",,�1��������,&
,����� D

1
, D

2
 ~ 10-11 �2*", D

3
 = 1.85⋅10-10� �2*"�
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D
4
 = 0.528⋅10-9��2*"9������� ���"��#����� #�!�����(&

�������!����*�!�����$�$������σ = 2⋅103 ���+*�3;
���)����$�$������ 45 10h �

−= ⋅ ��?� ������������&
��(���(�#�$��%�����!��"# ����$������������(�����
���� ������� ��$�*��������'���(� ������ ���%)�*

����$�������6���"��$�� ���������� ����#���� ���&
��#��#�#�.:
�E
/80�

��#�������������������� ���������� ����������
�� ��:�3�;������� �:���#������#��1�����1����������&
,������(�� �*�#�$��������� $� �����(�������$���'&


'(�
���6��,����������$����*�#��1�����1�'��G�����-�����������(-����'�#�$������
��G�����1�����������(-����'
#�$��������G�H + 
�!G�OH − 
����������$����*������� �(*���#�7�/�3�j / j

0
 = 0.2, 2 – 0.4, 3 – 0.6, 4 – 0.8, 5 – 1.0

�G

�G

�G

!G
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 ���%)�*�#�$��������������$�%�����
�����#�'�#
�����1�����$������'��$��3������%)�$�������� ��
����%)�!����,,�������!�� ��(�������� ��%)�$��3
������ ��������$�%)�!�����,����$�$���������,�&
��� #��� �������*�#�$�������������#���������� ���&
�(%� (�$�������������� ��%)�$��,��#1�($���6��&
�2$�#��1�����1�(�#�$�������
����#����(���#�����!�
 ��������� �����#�$�,�# ��������!�����(���$����&
1��$�$�����
�������(��#���-�
���$�#��1�����1�(
#�$�������� ������������-��$����(��$��4��� ��$
������ ���"��#����� #�!����#�� #��� ���#��1�����&
1�����*���$�����'��� �����!����-���P�����$����(
������ �����#��������������$����#�'��������������
���������j

0
���(������'� � ��$��

C���#������$�����(�#��1�����1�'�#�$��������

������%)�* (�����������������#1�����  �1��1��
��
����%)�$��������$�%)�$�δ�3� ��(*���������������&
��%)�$���,,�������$� ���
�!������*��������#1�(
�� )������(���'�������!��#�$�������
����,����#��&
1�����1�'�����*�#�$������������$��������
�����2$
��(����������I�!� (��������������!����'
�����(�!��&
��# ����3�����#��'���������$�%)�$���,,�������$
 ������������7���(������!��3�����#��'
�����(������&
!��3���!����'����������������������%)�!��δ�3� ��(
��(�����*�#�$������������,�����*�#��1�����1�'
(��(%� (�$��������������%)�$��,��#1�($��

��,����$�$���������,����#��1�����1���������&
���I�!� (�����,,�������$� ����#�$�������� �����&


'(�
*���� �����������",,�#�����*��� ��������� ��F�G����������H + �F�G�������!����# ����OH − �����������$����*
������ �(*�"��#����� #�!����#�7�/�3�j / j

0
 = 0.2, 2 – 0.4, 3 – 0.6, 4 – 0.8, 5 – 1.0.

�G

�G
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#�$�"��#����� #�!�����(��
� ������%)�$� �����#�$
���(���$����1��$�$�����
������������,��($�#��&
1�����1����������$���' ���%)�*�#�$������������(
���!�!��������%)�!� (�#�$�����������#��� ������
��������3�"�������#��(�,��#1�(� ���(�#������-��&
��$�$�# �$�$�$
�#�����(� ��� ��$���#�����������&
��� #��� �����$�����(�� #�������� ��� ���'�,��$��
��$���$���#-�
�����#��1�����1���"��*�#�$��������
������%� (����!�������!������������(�#��

6� ��������� ��(���� ���
����#���������$�*���&
�� �����������������$����
�3�"���*���#������$���&
��(�#��1�����1���������������*�� ���$�$�������
���� �������%)�!����,,�������!�� ��(���(�������&
%)�!� (�#�$�������
�(��(%)�!� (��������I���%�#
$�$�����������������$���� ��%���'�$���$�$�#��&
1�����1����� ��!��� (����������,,�������!�� ��(

�������� ��� ������'������ �����������*�� ���$�$&
������������#�*�����#�*�#����������$��������,���
#��1�����1�����(��(�� (���#�����'�$�# �$�$�3�J*�&
*���#K��	��� ���������#�'�-�����������������������
��(����!�!�������$���������������.:0��N���������(��
�� #��������������-����
��������������*�$�$����&
��*� � ��$�*����#� �$$����!���� ����������!��"��#&
����� #�!�����(����#���������*�� ���$�$������$�&
�(�� (
��������� ��� ������'������ ��������2���� �&
�������� �����#�$��������������

����� �
����� ��������!��,�#����$�����(�",,�#&
�����*��� ��������� ����(�*�$��� #���#�����*�#�$&
��������� $� ������������������(������#���(�"��#&
����� #�!����#���4������
����-���� �!�
���$�����
����
�������������(��(%� (���$��������$��,��#1�($�

*���#������������(�#�����*�������������(�������&

%)�!� (�������������"���,��#1�(���!����(
�����(
#�$�������� ������������-��$����#�$�"��#����� &
#�!�����(���3�����#��(��4#��� �����$�����(�����
,��#1�'� ��� ��$���������������� �����#���� � ��&
$����#-�����������3���(������!�� �����#�$�������
������������$�������(��#������ ������#���������*&
�� ���$�$�����
���(������!��#�$��������� ������
��$�����(����� *��(�����������,,�������!�� ��(�
6�"��$��",,�#��������� ��������� ����(���!����,���
$�$�������������$�%)�$���,,�������$� �������#&
���� #��������� (����������� �����#���� � ��$�
���!&
���#�#���(�������%)�!� (�������������"���������&
�����$��(%� (�������(��#�

	�#������������ ��;
�������������(-���(��� � &
��$������������� (� ��� ��$������� ���"��#����� &
#�!����#���4#��� �����$�����(������1�����������
���������'�!����1������%)�!�� ��(������������
����� ���������������-����������� �����#��#����&
������$���������%
�����!����������� �������(-��&
�� ���"��#����� #�!�����(���"��'����� ���

>���� ��M������
�����������$�����(����� �$� ��
��(�����%)�!����,,�������!�� ��(��$����	�3���&
�����%�,��$�
�����(�$�$�������������$�%)�!��3
���#���� #������'��%��N����������-������� ���'
�� ������(-���� ���"��#����� #�!�����(�������
���������'�!����1������%)�!�� ��(�������#�*�����&
#�*�#����������$���6����)����������1��������!��&
��1������%)�'� ��'�3�$�$�������������� ������&
�����$���#���������������������'��
������!����1�
$�$������3������$�%)�'� ��'������� ���
�������&
I�(������� �����#�� ������ ������$���I�'� #��� &
����� ����������$�����(�*���#���� ��#����(�� �'
���* ��'��'����� �����#-���$����	&,��$��


'(�
����� �����������������$����!��"��#����� #�!�������1�������(���������*��������'������� ���������$����!�
"��#����� #�!����#�7�/�3�j / j

0
 = 0.2, 2 – 0.4, 3 – 0.6, 4 – 0.8, 5 – 1.0.
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������(���(�#�$��������� �����# �$��/���:����!��&
��1��$�$�����Q�� ����������$��� �������$�8�8::

�����!����1��$�$�����Q�� �����3�8�88/���(�� �*�� &
������*�#�$����������������*�!����1�*��������(
#�",,�1��������� ���������(������ �������$��/�

� ������ ������������� �������������!����(���
��$
���������������"��#���$�$������'� � ��$��*�&
$��� #�*�����$���' ���'����������#�����*���$�&
 ������� $����������1�����*����� �������'���
� �����*���#���$���� �(*����1�  ��������� ���
�������!������� � ��$�*�������*���$� ��������
�!��������!���������(��*�� ������ ��'�

,�-�'��().�� � ��.
��/� � "�(�$�.�&&�
!#�

0� �-
�1�(� ���,��F!�����T��8
&:�/8&
E
G

����	�
����
���
�

/� ��
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